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Levels of response / Level
descriptors

Knowledge and
understanding

Application

Analysis

Evaluation

Good Good knowledge and Good application of Good analysis of the effect of | Good evaluation with a fully
understanding of the theory knowledge to a given xxxx. There is correct analysis | supported judgement that is
stated or referred to in the scenario. The in the form of developed developed from a weighing
qguestion. All of the terms/theoretical concepts links. These links are up arguments/both
terms/theoretical concepts are used/adapted/changed in | developed through a chain of | sides/comparing alternatives.
are explicitly or implicitly the context of the given reasoning which addresses
understood. scenario. There is good the question. Any relevant

understanding of all the diagram(s) are predominantly
relevant elements of the correct and linked to the
scenario. analysis.

Reasonable Reasonable knowledge and Reasonable application of Reasonable analysis of the Reasonable evaluation of xxx
understanding of the theory knowledge to a given effect on xxxx. There is considering arguments/both
stated or referred to in the scenario. The correct analysis largely in the | sides/comparing alternatives.
guestion. Most of the terms/theoretical concepts form of single effects. These There may be a judgement
terms/theoretical concepts are used/adapted/changed in | address the question but are | but this will not be fully
are explicitly or implicitly the context of the given not developed into a clear supported.
understood. scenario. There is chain of reasoning. The

understanding of some the relevant diagram(s), if
relevant elements of the present, may be improperly
scenario. labelled or not linked to the
analysis.
Limited Limited knowledge and Limited application of Limited analysis of the effect | Limited evaluation of xxx that

understanding of the theory
stated or referred to in the
guestion. Some of the
terms/theoretical concepts
are explicitly or implicitly
understood.

knowledge to a given
scenario. There is an attempt
to use/adapt/change the
terms/theoretical concepts in
the context.

on xxxx. There is an attempt
at analysis which may include
a single effect that has some
link to the question. Diagrams
(if present) are unlikely to be
correct and not linked to the
analysis.

may include an incomplete
consideration of
arguments/both
sides/comparing alternatives
with unsupported
statements.
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Section B
Question Answer Mark Guidance
21 (a) State what is meant by money as ‘a medium of 2 Give 2 marks for a precise answer, as shown.
exchange’.
Answers may include: AO1a | Give 1 mark for a Ies§ precise answer such_as ‘standgrd of yalue
. used in an exchange’ or reference to it helping to avoid the ‘double
¢ Anything that sets the standard of value (1) of incid f wants’
goods and services acceptable to all parties (1) coincidence o '
involved in a transaction.
ARA
21 (b) Explain the role of consumers. 2 Give 2 marks for a clear idea of the role of consumers which should
Answers may include: Ot include two elements.
* Buy goods and services for their pgrsonal use Give 1 mark if only one element e.g. ‘buy goods and services’ is
¢ Create demand for goods and services given.
e The end user of a good or service
e Make choices and thus influence what, and how
much, is produced.
ARA
21 (c) Using a diagram, analyse the consequences of a fall 6 All level descriptors describe the TOP of the level — please read
in demand for the goods sold in The Music Shop. guidance at the beginning of the mark scheme regarding best fit
Answers may include: 12)()(%())123 approach.
¢ Change in demand is a movement along the supply | 3xAO3a

curve

e Afallin demand is likely to lead to a large change in
price, but a small change in quantity sold.

e Change in quantity supplied will move in the same
direction as price.

e If price falls profits are likely to fall

e This may lead to firms exiting the market

e Diagram

Level 3 (5-6 marks)

(AO1a — 1 mark, AO2 — 2 marks, AO3a — 3 marks = 6 marks)
Reasonable knowledge demonstrated.

Reasonable application of the likely impact of a fall in demand on
price, quantity, profits and survival. The terms/theoretical concepts
are used/adapted/changed in the context of the given scenario.
There is understanding of some of the relevant elements of the
scenario.

Good analysis of the likely impact of a fall in demand on price,
quantity, profits and survival. There is correct analysis in the form of
developed links. These links are developed through a chain of
reasoning which addresses the question. The diagram is
predominantly correct and linked to the analysis.
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Question Answer Mark Guidance

Level 2 (3-4 marks)

P S (AO1a — 1 mark, AO2 — 1 mark, AO3a — 2 marks = 4 marks)
Reasonable knowledge demonstrated.

Limited application of knowledge to the likely impact of a fall in
demand on price, quantity, profits and survival. There is an attempt
to use/adapt/change the terms/theoretical concepts in the context.
Reasonable analysis of the likely impact of a fall in demand on
price, quantity, profits and survival. There is correct analysis,
largely in the form of single effects. These address the question but
are not developed into a clear chain of reasoning. The relevant
diagram(s), if present, may be improperly labelled or not linked to
the analysis.

Level 1 (1-2 marks)

(AO1a — 1 mark, AO2 — 0 marks, AO3a — 1 mark = 2 marks)
Reasonable knowledge demonstrated.

A maximum of 4 marks if no correct diagram No application of knowledge to the likely impact of a fall in demand
on price, quantity, profits and survival. There is an attempt to
use/adapt/change the terms/theoretical concepts in the context.
Limited analysis of the likely impact of a fall in demand on price,
quantity, profits and survival. There is an attempt at analysis which
may include a single effect that has some link to the question.
Diagrams (if present) are unlikely to be correct and not linked to the
analysis.

0 marks
No response or no work worthy of credit.

N.B. Any other relevant points and/or evidence of learners’
understanding of the connections between the various topics
of both components to be credited.

21 (d) (i) | Explain one way in which a rise in interest rates 2 Give 2 marks for a precise answer, as shown.
could affect The Music Shop.

AO2 | Give 1 mark for a less precise answer which may be a statement
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Question Answer Mark Guidance
Answers may include: without development.
e Fallin demand as consumers prefer to save or
cannot afford the non-essential goods sold by The Any answer MUST be in the context of The Music Shop.
Music Shop
e Higher interest payments on the loan leave Eileen
and Jean with less money to buy stock
e It may encourage Eileen and Jean to try and reduce
their £500 000 loan
e |t may prevent Eileen and Jean carrying out any
further investment as they are unlikely to want to
increase their £5600 000 loan
e Higher costs for The Music Shop may lead to lower
profits or cost savings elsewhere (or price increases
on musical instruments, CDs)
ARA
21 (d) | (ii) | Calculate the amount of interest which Eileen 2 2 marks for correct working + correct answer (including the £ sign).
and Jane must pay each month to the bank
when the rate of interest rises to 60/0_ Show AO2 2 marks for correct answer on its own, which must include the £
your working. sign.
£500 000 x 6% = £2 500 1 mark for correct working, but incorrect answer.
Or 12 Correct answer on its own without £ sign is worth 1 mark only.
£500 000 x 0.06 = £30 000 (1 mark) Award 1 mark for an answer of £30,000 (inCIUding the £ Sign).
£30 000/ 12 = £2 500 (1 mark) OFR applies.
21 (d) | (iii)* | Evaluate the importance of the financial sector for 6 All level descriptors describe the TOP of the level — please read
The Music Shop’s consumers. guidance at the beginning of the mark scheme regarding best fit
1XAO2 | approach.
Advantages may include: gﬁggg
e Provision of credit in terms of credit and debit cards Level 3 (5-6 marks)
for customers — do not have to rely on having cash
e Mortgages allow customers not to have their money (AO2 — 1 mark, AO3a — 2 marks, AO3b — 3 marks = 6 marks)

6
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Question
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Mark

Guidance

tied up in property allowing them to spend more
Overdraft facilities provide means to continue to
spend — overcomes imbalance between income &
expenditure

Allows customers to save for more expensive goods
such as musical instruments

Disadvantages may include:

Businesses are charged for consumers using credit
cards, so may be reluctant to accept them
Consumers who wish to pay off credit cards each
month may not risk greater expenditure

Younger consumers will rely on cash and not
financial ‘products’

Overdrafts may be called in

Interest rates can vary

Risks to consumers of online identity theft and
fraudulent transactions

Evaluation may include:

The importance of the financial sector may depend

on:

o The age of the consumers as this may affect the
level of indebtedness or saving

o The attitude to risk

o The attitude to borrowing and/or saving

o The level of individual motivation, e.g. the desire
to buy your first house

o The level of consumer income

o The state of the economy and confidence

ARA

Good application of knowledge of the effects of the financial sector
on consumers. The terms/theoretical concepts are
used/adapted/changed in the context of the given scenario. There
is good understanding of all the relevant elements of the scenario.
Reasonable analysis of the effects of the financial sector on
consumers. There is correct analysis, largely in the form of single
effects. These address the question but are not developed into a
clear chain of reasoning. The relevant diagram(s), if present, may
be improperly labelled or not linked to the analysis.

Good evaluation of the effects of the financial sector on
consumers, with a fully supported judgement that is developed from
a weighing up arguments/both sides/comparing alternatives.

There is a well-developed and detailed line of reasoning which is
coherent and logically structured. The information presented is
entirely relevant and substantiated.

Level 2 (3-4 marks)
(AO2 — 1 mark, AO3a — 1 mark, AO3b — 2 marks = 4 marks)

Good application of knowledge of the effects the financial sector on
consumers. The terms/theoretical concepts are
used/adapted/changed in the context of the given scenario. There
is good understanding of all the relevant elements of the scenario.
Limited analysis of the effects of the financial sector on
consumers. There is an attempt at analysis which may include a
single effect that has some link to the question. Diagrams (if
present) are unlikely to be correct and not linked to the analysis.
Reasonable evaluation of the effects of the financial sector on
consumers considering arguments/both sides/comparing
alternatives. There may be a judgement, but this will not be fully
supported.

There is a line of reasoning presented with some structure. The
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Mark
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information presented is in the most-part relevant and supported by
some evidence.

Level 1 (1-2 marks)
(AO2 — 0 marks, AO3a — 1 mark, AO3b — 1 mark = 2 marks)

No application knowledge of the likely impact of the financial sector
on consumers. There is an attempt to use/adapt/change the
terms/theoretical concepts in the context.

Limited analysis of the effects of the financial sector on
consumers. There is an attempt at analysis which may include a
single effect that has some link to the question. Diagrams (if
present) are unlikely to be correct and not linked to the analysis.
Limited evaluation of the effects of the financial sector on
consumers that may include an incomplete consideration of
arguments/both sides/comparing alternatives with unsupported
statements.

Information presented is basic and may be ambiguous or
unstructured. The information is supported by limited evidence.

0 marks
No response or no work worthy of credit.
N.B. Any other relevant points and/or evidence of learners’

understanding of the connections between the various topics
of both components to be credited.
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Question Answer Mark Guidance
22 (a) State what the difference is between price and 2 Give 2 marks for an answer which clearly distinguishes between
worth. price and worth (maybe by using an example)
Answers may include: AOta
e Price is th){a amount.of money which has to be paid Give 1 mark for an answer which only correctly states either price
. or worth or where the difference is not clear.
to purchase a product (determined by S&D)
o Worth is how much a person values a product
e Price may be the same for everyone even though
each person places a different worth on the product.
ARA
22 (b) Explain how markets determine the price of a 2 Give 2 marks for a clear explanation which includes the elements of
product. both bullet points
Answers may include: AOTD
e Through t%e interac:tion of buyers/demand and Give 1 mark for answer which has some idea such as bringing
buyers and sellers together.
sellers/supply
¢ By eliminating excess in either demand or supply
through raising or lowering prices
ARA
22 (c) Analyse how competition between charity shops 6 All level descriptors describe the TOP of the level — please read
could affect the prices of the products they sell. guidance at the beginning of the mark scheme regarding best fit
1xAO1a | approach.
Answers may include: 32)(":832&‘

e Prices fall as there is more supply

e Prices could rise if greater competition leads to
more advertising etc.

e Change in price will depend on the degree of direct
competition — are they selling the same/similar
products

e Effect on prices will depend on the price elasticity of
demand of the products being sold

e Diagram/s (optional)

Level 3 (5-6 marks)
(AO1a — 1 mark, AO2 — 2 marks, AO3a — 3 marks = 6 marks)

Reasonable knowledge demonstrated.

Reasonable application of the likely impact of competition on
prices.in charity shops. The terms/theoretical concepts are
used/adapted/changed in the context of the given scenario. There
is understanding of some of the relevant elements of the scenario.
Good analysis of the likely impact of competition on prices. There
is correct analysis in the form of developed links. These links are
developed through a chain of reasoning which addresses the
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Question
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Mark

Guidance

qa J Q

NB: A diagram is not necessary to gain full marks

ARA

question. Any relevant diagram(s) are predominantly correct and
linked to the analysis.

Level 2 (3-4 marks)

(AO1a — 1 mark, AO2 — 1 mark, AO3a — 2 marks = 4 marks)
Reasonable knowledge demonstrated.

Limited application of knowledge to the likely impact of competition
on prices in charity shops. There is an attempt to use/adapt/change
the terms/theoretical concepts in the context.

Reasonable analysis of the effect on the likely impact of
competition on prices. There is correct analysis, largely in the form
of single effects. These address the question but are not developed
into a clear chain of reasoning. Any relevant diagram(s), if present,
may be improperly labelled or not linked to the analysis.

Level 1 (1-2 marks)

(AO1a — 1 mark, AO2 — 0 marks, AO3a — 1 mark = 2 marks)
Reasonable knowledge demonstrated.

No application of knowledge to the likely impact of competition on
prices in charity shops. There is an attempt to use/adapt/change
the terms/theoretical concepts in the context.

Limited analysis of the likely impact of competition on prices.
There is an attempt at analysis which may include a single effect
that has some link to the question. Diagrams (if present) are
unlikely to be correct and not linked to the analysis.

0 marks
No response or no work worthy of credit.

N.B. Any other relevant points and/or evidence of learners’
understanding of the connections between the various topics
of both components to be credited.

10
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Question Answer Mark Guidance
22 (d) (i) | Explain what Sophia means by ‘the demand by her 2 Give 2 marks for an answer which includes the ideas of able and
friends’. willing to buy at the price stated and that this concerns dresses in
AO2 | charity shops.
Answers may include:
e Demand is the willingness and ability to purchase a Answers MUST be in context.
good or service at the given price in a given time
period
e Demand for dresses in charity shops at present,
relative to the price being charged.
ARA
22 (d) (ii) | Using the information in Extract 2, draw a demand 2 2 marks for correctly drawing the demand curve.
curve showing the demand by Sophia’s friends for
dresses. AO2 | Maximum 1 mark if the points are not joined up

35
30
25
20
15
10

Price

0 5 10 15 20 25
Quantity

Maximum 1 mark if any one point is incorrect

The information in Extract 2 must be used for marks to be gained.

11
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Question Answer Mark Guidance
22 (d) | (iii)* | Evaluate the importance of price elasticity of 6 All level descriptors describe the TOP of the level — please read
demand for Sophia’s friends. guidance at the beginning of the mark scheme regarding best fit
21 X)X\&Z approach.
: . a
Answers may include: IXAO3D

e Any change in price will lead to a larger relative
change in demand

o The table tends to indicate that as price falls
Sophia’s friends buy far more dresses, but is this all
friends or just a few who buy more?

o Does the type/style of dress matter?

¢ Price elasticity of demand may vary over time or the
seasons of the year

Evaluation may include:

e Depends on whether price is more important than
what the dress is like — evidence in extract is that
quality is more important than price

e Depends on the motives of consumers — do they
purchase from charity shops because of lower
prices or because of the benefits to the wider
community?

e How reliable is the table, where did it come from —
in theory (when Sophia asks them) they might say
they buy more, but do they in practice?

ARA

Level 3 (5-6 marks)
(AO2 — 1 mark, AO3a — 2 marks, AO3b — 3 marks = 6 marks)

Good application of knowledge of the likely importance of price
elasticity of demand. The terms/theoretical concepts are
used/adapted/changed in the context of the given scenario. There
is good understanding of all the relevant elements of the scenario.
Reasonable analysis of the importance of price elasticity of
demand for Sophia’s friends. There is correct analysis, largely in
the form of single effects. These address the question but are not
developed into a clear chain of reasoning. The relevant diagram(s),
if present, may be improperly labelled or not linked to the analysis.
Good evaluation of the importance of price elasticity of demand for
Sophia’s friends with a fully supported judgement that is developed
from a weighing up arguments/both sides/comparing alternatives.

There is a well-developed and detailed line of reasoning which is
coherent and logically structured. The information presented is
entirely relevant and substantiated.

Level 2 (3-4 marks)
(AO2 — 1 mark, AO3a — 1 mark, AO3b — 2 marks = 4 marks)

Good application of knowledge of the likely importance of price
elasticity of demand. The terms/theoretical concepts are
used/adapted/changed in the context of the given scenario. There
is good understanding of all the relevant elements of the scenario.
Limited analysis of the importance of price elasticity of demand to
Sophia’s friends. There is an attempt at analysis which may include
a single effect that has some link to the question. Diagrams (if

12
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present) are unlikely to be correct and not linked to the analysis.
Reasonable evaluation of importance of price elasticity of demand
to Sophia’s friends considering arguments/both sides/comparing
alternatives. There may be a judgement, but this will not be fully
supported.

There is a line of reasoning presented with some structure. The
information presented is in the most-part relevant and supported by
some evidence.

Level 1 (1-2 marks)
(AO2 — 0 marks, AO3a — 1 mark, AO3b — 1 mark = 2 marks)

No application of knowledge of the likely importance of price
elasticity of demand. There is an attempt to use/adapt/change the
terms/theoretical concepts in the context.

Limited analysis of the importance of price elasticity of demand to
Sophia’s friends. There is an attempt at analysis which may include
a single effect that has some link to the question. Diagrams (if
present) are unlikely to be correct and not linked to the analysis.
Limited evaluation of the importance of price elasticity of demand
to Sophia’s friends that may include an incomplete consideration of
arguments/both sides/comparing alternatives with unsupported
statements

Information presented is basic and may be ambiguous or
unstructured. The information is supported by limited evidence.

0 marks
No response or no work worthy of credit.

N.B. Any other relevant points and/or evidence of learners’
understanding of the connections between the various topics
of both components to be credited.

13
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Question Answer Mark Guidance

23 (a) State what is meant by the ‘labour market’. 2 Give 2 marks for a clear statement along the lines of those given.

fnsvv\’s;?ercvac));;grcslll:]gﬁ.seholds supply/sell their labour AO1a | Give 1 mark if the general idea is present, but it lacks clarity such
. ) as where supply and demand for labour meet.
o Itis where firms/employers buy/demand labour
o Where wages are set by the interaction of supply
and demand of labour.
ARA

23 (b) Explain one reason why workers may find it difficult 2 Give 2 marks for ONE suitable reason explained (maybe by using
to move between jobs. an example).
Answers may include: AOTD

y T Give 1 mark if there is a reason, but it lacks valid development.
e Lack the necessary skills
e Unwilling to move to another area
e Family ties
e Labour immobility
e Lack of information.
ARA

23 (c) Using a diagram, analyse the effects of low 6 All level descriptors describe the TOP of the level — please read
business profits on wages. guidance at the beginning of the mark scheme regarding best fit
Answers may include: 12)()&%23 approach.
e Diagram based on the text 3xAO3a

Level 3 (5-6 marks)
(AO1a — 1 mark, AO2 — 2 marks, AO3a — 3 marks = 6 marks)

Reasonable knowledge demonstrated.

Reasonable application of the likely impact of low business profits.
The terms/theoretical concepts are used/adapted/changed in the
context of the given scenario. There is understanding of some of
the relevant elements of the scenario.

Good analysis of the likely impact of low business profits on
wages. There is correct analysis in the form of developed links.
These links are developed through a chain of reasoning which

14
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Q

e Low profits are likely to lead to a fall in demand for
labour from D to D'
e Demand falls from q to q' while the wage falls from

w to w'

e Low profits deter firms from investing and
expanding

e Demand for labour will at best remain static, but
may decline

e May lose sales to rivals and thus need less labour

e Firms could try to bring in better skilled/more
productive labour and to get rid of less
skilled/productive labour.

A maximum of 4 marks if no correct diagram

addresses the question. Any relevant diagram(s) are predominantly
correct and linked to the analysis.

Level 2 (3-4 marks)

(AO1a — 1 mark, AO2 — 1 mark, AO3a — 2 marks = 4 marks)
Reasonable knowledge demonstrated.

Limited application of knowledge to the likely impact of low
business profits. There is an attempt to use/adapt/change the
terms/theoretical concepts in the context.

Reasonable analysis of the effect on the likely impact of low
business profits on wages. There is correct analysis, largely in the
form of single effects. These address the question but are not
developed into a clear chain of reasoning. The relevant diagram(s),
if present, may be improperly labelled or not linked to the analysis.

Level 1 (1-2 marks)

(AO1a — 1 mark, AO2 — 0 marks, AO3a — 1 mark = 2 marks)
Reasonable knowledge demonstrated.

No application of knowledge to the likely impact of low business
profits. There is an attempt to use/adapt/change the
terms/theoretical concepts in the context.

Limited analysis of the likely impact of low business profits on
wages. There is an attempt at analysis which may include a single
effect that has some link to the question. Diagrams (if present) are
unlikely to be correct and not linked to the analysis or have ignored
the Extract.

0 marks
No response or no work worthy of credit.

N.B. Any other relevant points and/or evidence of learners’
understanding of the connections between the various topics
of both components to be credited.

15
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Question Answer Mark Guidance
23 (d) (i) | Explain what happened to wages at Crotay Ltd 2 Give 2 marks for a clear explanation, which may refer to falling and
between 2013 and 2018. rising wages over the period or to the fact that wages have
A . . AO2 | increased at an increasing rate.
nswers may include:
e Increased at 0.5%, then fell and then rose , . . . .
«  Wages fell at first (from 0.5% to ~1%) and then Give 1 mark for the idea that wages increased over the time period
slowly rose (by up to 2%) . Do not reward simple repetition of the data.
e In general, wages rose over the whole period.
ARA
23 (d) (ii) | Explain how low wage increases in the UK economy 2 Give 2 marks for a clear explanation of how low wage increases
could damage Crotay Ltd’s performance in the affect demand in a product market.
product market. AO2
Answers may include: Eiwvgr1dg1ni;kn1§r a basic statement, e.g. low wages will lead to
e They are in the product market as they sell '
specialist car tyres to consumers :
e Labour is part of the factor market (and wages are Answers MUST be in context.
the payment to this factor)
e Low wage increases may mean that consumers are
less ‘well off’, which may reduce consumption
e Could lead to more people opting out of the labour
market, so they have lower incomes and so demand
less.
ARA
23 (d) | (iii)* | Evaluate the importance of productivity for the UK 6 All level descriptors describe the TOP of the level — please read
economy. guidance at the beginning of the mark scheme regarding best fit
1XAO2 | approach.
Answers may include: gﬁggg
e Lower average costs thus increasing UK’s Level 3 (5-6 marks)
competitiveness
e Increase in exports and improvement in the balance (AO2 — 1 mark, AO3a — 2 marks, AO3b — 3 marks = 6 marks)
of trade
e Firms can gain greater profits leading to more Good application of knowledge of the likely impact of productivity.
investment in workers, capital and research The terms/theoretical concepts are used/adapted/changed in the
o If this leads to UK firms growing in size it may context of the given scenario. There is good understanding of all

16
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create economies of scale

Allows firms to pay higher wages and thus attract
the best workers

Higher wages can encourage workers to improve
skills leading to further productivity gains

Increased productivity will lead to greater output and
growth in GDP/economic growth

Increased government revenue allowing more to be
spent on transport, education, health, etc.

Potential issues may include:

UK productivity is shown to be 15% lower than its
main competitors and 25% lower than Germany, so
unit costs will be relatively higher

Increased productivity may encourage workers to
want higher wages, so any cost savings are lost
(Toni is worrying about giving wage increases in the
first place)

Productivity improvements may come from capital
rather than labour, so there may be no need to
increase wages

But this may lead to labour being replaced by
capital leading to unemployment

Can lead to negative environmental effects

Stress on workers/families, etc

Evaluation may include:

The importance of productivity to the UK economy
may depend on:

o The degree of openness of the UK economy

o The need to narrow the UK’s trade deficit

o The non-price competitiveness of UK firms

the relevant elements of the scenario.

Reasonable analysis of the importance of productivity for the UK
economy. There is correct analysis, largely in the form of single
effects. These address the question but are not developed into a
clear chain of reasoning. The relevant diagram(s), if present, may
be improperly labelled or not linked to the analysis.

Good evaluation of the importance of productivity for the UK
economy with a fully supported judgement that is developed from a
weighing up of some of the arguments for, as well as, at least, one
issue.

There is a well-developed and detailed line of reasoning which is
coherent and logically structured. The information presented is
entirely relevant and substantiated.

Level 2 (3-4 marks)
(AO2 — 1 mark, AO3a — 1 mark, AO3b — 2 marks = 4 marks)

Good application of knowledge of the likely impact of productivity.
The terms/theoretical concepts are used/adapted/changed in the
context of the given scenario. There is good understanding of all
the relevant elements of the scenario.

Limited analysis of the importance of productivity for the UK
economy. There is an attempt at analysis which may include a
single effect that has some link to the question. Diagrams (if
present) are unlikely to be correct and not linked to the analysis.
Reasonable evaluation of the importance of productivity for the UK
economy weighing up some of the arguments. There may be a
judgement, but this will not be fully supported.

There is a line of reasoning presented with some structure. The
information presented is in the most-part relevant and supported by
some evidence.

Level 1 (1-2 marks)
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(AO2 — 0 marks, AO3a — 1 mark, AO3b — 1 mark = 2 marks)

No application of knowledge of the likely impact of productivity.
There is an attempt to use/adapt/change the terms/theoretical
concepts in the context.

Limited analysis of the importance of productivity for the UK
economy. There is an attempt at analysis which may include a
single effect that has some link to the question. Diagrams (if
present) are unlikely to be correct and not linked to the analysis.
Limited evaluation of the importance of productivity for the UK
economy that may include an incomplete consideration of
arguments with unsupported statements

Information presented is basic and may be ambiguous or
unstructured. The information is supported by limited evidence.

0 marks
No response or no work worthy of credit.
N.B. Any other relevant points and/or evidence of learners’

understanding of the connections between the various topics
of both components to be credited.
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Question AO1a AO1b AO2 AO3a AO3b Total Quantitative
skills
Questions 1-20 3 10 7 20 4
Quantitative
Q21 Marks: AO1a AO1b AO2 AO3a AO3b Total Skills
(a) 2 2
(b) 2 2
(c) 1 2 3 6
(d) (i) 2 2
(i) 2 > >
(iii) 1 2 3 6
Total: 3 2 7 5 3 20
Quantitative
Q22 Marks: AO1a AO1b AO2 AO3a AO3b Total Skills
(a) 2 2
(b) 2 2
(c) 1 2 3 6
(d)(i) 2 2
(i) 2 2
(iii) 1 2 3 6
Total: 3 2 7 5 3 20
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Q23 Marks: AO1a AO1b AO2 AO3a AO3b Total Q”aS"I:i'Itlast“’e
(a) 2 2
(b) 2 2 2
(c) 1 2 3 6
(d)(i) 2 2
(i) 2 2
(iii) 1 2 3 6
Total: 3 2 7 5 3 20
Section B total: 9 6 21 15 9 60 4
Paper Total 12 16 28 15 9 80 8

20



OCR (Oxford Cambridge and RSA Examinations)
The Triangle Building

Shaftesbury Road

Cambridge

CB2 8EA

OCR Customer Contact Centre

Education and Learning

Telephone: 01223 553998

Facsimile: 01223 552627

Email: general.qualifications@ocr.org.uk

www.ocr.org.uk

For staff training purposes and as part of our quality assurance
programme your call may be recorded or monitored

Oxford Cambridge and RSA Examinations

is a Company Limited by Guarantee

Registered in England

Registered Office; The Triangle Building, Shaftesbury Road, Cambridge, CB2 8EA
Registered Company Number: 3484466

OCR is an exempt Charity

Cambridge
Assessment

OCR (Oxford Cambridge and RSA Examinations)
Head office

Telephone: 01223 552552

Facsimile: 01223 552553

o

v

UKAS

MANAGEMENT
SYSTEMS

© OCR 2019 001



mailto:general.qualifications@ocr.org.uk
http://www.ocr.org.uk/

